#5 BREURMMNERT TS (L0 EYDSUITE = LIB#IR)
REHRIE (20084F%E - 20094E55H)

EHi50%t

& IRZEEE (%)
18k B E % 114.6
A RXEXRME 109.0
35 & v o R 107.6
ABAERET 102.7
5/ U K — )L 101.0
6| B AEEHIE 96.8
e E 94.2
8= = M 91.9
9y —IR-17¥3-hK L—Y3y 81.9
10[BAAA>TYY 79.1
"MRTS5 7377 71.4
2y — %% 70.5
13| AH Ry T 65.9
“wH = 65.6
15| 7—R ATV 65.2
16| RIFERTE 62.2
17k % & & 59.6
18 £ & & 57.1
19[F A T % 54.2
0[5 TAINIR 52.1
2118 X & B 52.0
22| vHA7a—kRL—av 51.2
BHYN—AB—FaF )L 49.5
24/ & & 48.6
25|85 bh—Ls 48.1
263+ B9 B # 46.3
27| ORERER 44.9
28 I—JIE 447
9[EAH/ ILTRE 44.3
0[T—RIVTC=FYLG 43.0
|FRAT I T R—I T4V TR 42.0
2|8 TSNS /A0— 41.7
33|F Ao EHk 40.8
34T 7 F O 383
3514 ¥ £ 3 — 376
36[3L # 35.6
e 35.6
3BH KX £ 5 34.5
39l M S 34.4
0T ERGT T4 33.8
M|HSTFAILZETE 338
2= F 3> 332
3 H E B 32.8
M“=F 4 % 32.7
45|18 T Yy D R—IL T4V TR 32.6
46l 2 3 > 325
47/ X B # 32.5
B[BRNIRAT 31.8
49| EEFELV=IT 29.4
50T ~ 7 35 R 29.3

TI50%t

& IRZEEE (%)
e 5 = —96.1
2NN X X RR—ILTAVT R -83.4
37 4 7 )L -83.1
4{CSKTIR—IL T4V T R -79.1
574799 -78.2
65 >~ F -78.2
1178—R)LR -773
87 & /N FE £ -76.7
I T4 -75.9
10[TIL-— T—h—ILTAVT R -75.3
11NIST IL—TF -74.3
12(RFv—-1y2y -73.7
13[RFSRT L -73.3
14[V—ZX %5 R -73.1
15|7—Sv—Ra—KL—Yay -72.5
16|{f 15 B F -72.4
17l = + -70.8
18[ R TAIR —69.1
19[EEEIVER—RF —68.8
207 — 4 -68.1
21{VILN—RT -67.7
2084 4+ = F -67.6
RIEAES EES —65.9
24| RSV SRS -64.2
25| 2 — -63.4
26|20 TATABNE -63.1
273 % R 17 —62.7
28[& LY A B -62.7
2] ¥ / —61.5
30[NECILZFO=HR -61.3
A Vv o R -61.3
2= v * -61.2
337 O = X —61.1
34|BFa—HRITE -61.0
35|E+ i HIRIE -60.7
36| — RS/ -59.5
37| = AR B PR -59.3
38| TILE—HF AEY -59.1
XX TTHA 25— -59.0
40T B K -58.3
MWNFSHEIE -58.2
2T 4 5 F -57.9
431 B A -57.2
AM|REBHR—ILTAUT R -57.1
5IFERESE -56.7
46|7% B & T P -56.7
477 L R T % -56.7
48| HENE AR T3 -56.5
498 X & K —56.1
50[7—LRT4 -55.9




REHIRISE (20064 1%E - 20094F 5540)

THiI50%t

2 EEICH)
il 2 = —-82.9
2NN X X R R—ILTAVTR -74.5
3INISTIL—T -72.6
4N F — X -70.8
52 T4 —70.1
87 — 4 —69.4
JIPEE TP —67.5
87— ¥—Xa—RL—Tav —66.8
97 4 7 L —66.4
10[24T 9o -65.9
HRUFH—-1)2h -63.0
12[=E A/ NLI BIERR -63.0
BAZA HR—ILTAVTR —62.6
14| TA9TFVExXG - ——X —61.1
15| THR—L -59.2
16| T o—T—KR—ILTAVT R -58.5
17|CSKTR—IL T4 T R -57.9
18| REHR—ITAVTR -57.6
19| KFLRT L -57.5
0[7ABLKR—ITAVTR -56.7
28 F + -55.2
22|BBFIE—IL T4 T R —55.1
23[Y7hIL—> -54.5
24|0akF¥¥EZIL -54.2
BT R TAIR -53.7
26| 8—R)LR -52.5
271|VIILN—5T -52.3
28|7E vk -52.2
2L & 7 v -51.8
0/ = — X -51.6
it 7 4« -51.3
2B T v U -51.0
33ffi & BE -51.0
4y — F -50.4
BN A A =7 -49.8
36| FERBER -49.5
37|7/ILT7 Co -485
B|AY T ra—RL—a> -48.4
39|F)—LAFarn—4 -48.3
A|I—ANSRIVEA—TFTA Ak -48.3
MHF 4 T — -48.0
23 F A -47.3
3 — F % -46.9
UIT—FUF-TA -46.8
45(RYRR—HD R -46.7
46| 7—L AT« -46.7
a9V F 4 v 9 —46.5
48]0 & N EE -46.2
49|FT5 T4/ DR -46.1

#5004t

2 IR (%)
& ] B 46.5
e EPA 42.2
3|V —IR-17¥3-KL—Yay 345
43757 )| fZe 28.4
5[ F—=21—X 26.8
6K & £ T # 255
1 BAERME 20.8
8B X B X 20.2
9E ¥ 3 v 19.9
10[hAHHaL 19.3
NEZTSUERT L 17.9
12187 K M 17.8
3BH = v 16.9
14| RERTE 16.7
15| AAREEH—R 15.1
16|H K B # 14.9
17| 1 E & 14.9
187 & H 1 Fr 148
19| AE/ LI EE 14.2
20[BFRNIXAT 13.9
21|13 A & 8 Fr 12.0
27 X £ 5 — 11.6
2| M F E 11.2
24| X B T 11.1
25|21=-Fv—L RUrT7T 10.0
26|13 T7ALZETE 9.4
27| £ K #E 9.1
8|8 H F E 8.8
29[/ —EF—IX 8.7
0[BABRIET 8.6
E X = 8.5
RAAT454E 8.2
3 & H O 8.2
UEF R E F 8.1
3By v F A4 8.0
B|=REETE 7.8
37| 77—RRUTAIVY 75
81— Fyr—L 6.7
AT Yy OR—I TV TR 6.4
W[FAERBEY)2— 3> 6.4
4= ~ 1 6.1
2|REEETE 5.9
43[R FEREE ) 5.6
44|51 H E0 Rl 5.3
451 — & H 5.2
46|HATHTE 5.2
47| wINS R 5.1
48K T T ¥ 5.0
97 & = 5.0
5000 X BB F 438

TFIARTLI RIR—ILTAVT R




REHIRSE (20044F1%E - 20094F5540)

#5004t

2 IR (%)
18 X & 8 fr 46.8
2FETSTYH 43.4
3K & & T # 35.7
A FAHRRYT 31.9
58 A & 31.2
6| BT )t Ze i 29.5
718 X g & 29.2
8| MA>T454F 285
IKRFE=ILTH/OC—X 27.1
10|EEF/ LD BE 26.6
1 AASEHIR] 21.8
127 ¥ v 5 R 215
13[hAhFaLs 19.8
uE X = 19.7
15|78 B & {F A 19.4
16[/Z TSR AT L 19.3
17172 % £ 5 — 19.1
18 ’5'4'7-krb-k IWTAVT R 18.8
19K F & ¥ 18.7
20(/]v # iz 1€ Fr 18.5
20|BFRNSRAYT 18.4
2|T 7 E O 18.0
23[LRAYHR 17.3
24 K BB F 17.0
25F & H W 16.9
267 & = 16.9
27|BAFTIE 16.7
28 = 16.6
9|3 M F B B 16.4
0/ H E E 16.4
3K #1 T % 16.3
32| A RF—E Kk 16.2
B HABRIET 15.9
34| FEBHREE 15.9
BY LS 15.8
36|F FH E 15.8
INE 4 & * 15.6
B|T—E——3—F 15.4
E o3 v 15.4
40| 7 &8 15.3
4o — F & & 15.2
2l v v 3 — 15.1
3= ~ 1 15.0
MEREETE 15.0
45K 4 > 15.0
46|XT5 5377 14.8
47|11 = 14.7
48|AARERILFETE 14.7
98 A & F 14.4
50| A—T LEEFR 14.2

THiI50%t

2 EEICH)
1|1=FA > k— )lzT»f/OZ -61.5
2118 F — -54.0
3|T)L-—- —'k—)l«T»f.‘/’JZ -51.8
ATNEXRMR—ILTAVT R -51.7
57 4 7 JL -50.4
6>z TYv> -50.0
1B AN TR -475
8INISTIL—T -473
IEEBEE -447
10N Frv—- —42.2
1[I L—> -415
12| R Yb—OR -41.3
13| =HERESR -41.2
14[4VRA4R -40.7
158 = + -39.7
16]|0akFrEA)L -39.5
17|7—C%—R3—KL—3> -38.8
18|CSKIR—IL T4V T R -38.8
0N 4 & = 7 -37.7
20[2H I 7Rh— -36.8
[/ RTYITE -36.1
22|BBFIE—ILTA4T R -35.4
23|fffi fiE B % -347
241 = F o —34.6
25[NECILZFA=5X -34.2
26|[E9+S -34.1
2711% 3 9 7T ¥ -34.0
28|47 4 T — -33.9
29[ L ¥ -33.3
307 = 4 2 -33.1
31|/ R & £ Fr -33.0
2t ¥ — ) -325
B[IINN—FET -32.1
My KT v -31.8
35| 7F RO R -31.8
36|= @IV R—FRk -31.6
377 8—RJLR -31.0
BF X F E K -30.9
9| TB}THS -30.9
0[RyHF—7 -30.7
417 B = X -30.6
2Y 5 5 4 -30.6
43| AT ba—RL— a3y -30.5
44|/ #K ,$ ﬁr -30.4
45|10 K B K -29.7
46|75 »r|~7-l/~/x-k IWTAVTR -29.6
47 = v -29.6
48[1B & v U -29.5
BRI L-TA-TL -29.5
50(1ll — &F -29.3




BREHR10E (1999F %5 - 20094 5541)

EHi50%t

& IRZEEE (%)
1B A & 8§ At 23.6
282 K 22.0
N 21.9
A7 ¥ vy R 205
5| TS Tvl 19.7
6| B AT EHIR| 19.6
7(8 18 19.4
8IX T X £ & 19.0
EEZNE S 17.1
101K #1 T % 16.8
EBFEI=D L 16.7
12[BRKXETE 16.5
13[A S & %= 16.4
14[HHDR—IL T4V T R 15.9
15|73 ) | A 22 15.6
16K & &£ T # 15.2
17|EFERELE 15.1
18|HE TSR RT L 15.0
E & X 8 E 14.7
208 X & I 14.7
21 REVL—ER 14.6
2E HBE B 14.6
2K F E T 145
24|TF oA —5— 14.1
25|# o] & th 14.0
26[3F & H & 138
278 § T ¥ 13.6
28|F—h RS 13.6
29|BFRN—HFA4TT 13.4
30[77—RRUTANY 13.3
314 X 3 13.3
32038 0 iE & 13.1
BX F E £ 13.0
EEE 13.0
350 #E E | 12.7
36[K R & 12.7
JFREREL 12.7
38l nkFEIE 12.7
FEEEEE R 12.4
400 # T N 12.3
MN|5473—KL—3> 12.0
20 M = H# 11.9
B EAHTHAEER 11.9
4B X B 11.8
45(#2 = 11.7
46|83 T T H 11.7
47759 —T% 11.7
48|BR #0 B % 11.7
49T ZAYH X 11.5
508 3 3 11.5

TI50%t

& IRZEEE (%)
1K & T % -426
A=A R— T4V R -37.7
N—FT -34.1
a4y = v 5 2 -29.1
5 L ¥ -28.3
SI=HEFRESR -28.1
07 4 7 L -27.8
8[RBFIAR—ILTA TR -26.9
94 4 T — —26.2
0K = =+ -26.0
M+e—5—F&% -255
2% 5 # -246
1388 & #A -245
14[FEHTHS -23.7
15|58 i 8 X -23.0
16|CSKTIR—IL T4V T R -229
17# & B -22.4
18|{fi {6 B F -22.4
O7T 47 v -22.3
20(AYDFIVERET -215
21|NIST IL—F -21.2
22|85 Ft -20.0
W7 LT v -19.8
4] £ X 3 — -19.5
2N\ 4 A = 7 -19.4
26|80 A K X -19.3
2713 < -19.1
28[@1 = T % -18.6
2901l K E R -18.4
0[EMAEETE -18.4
SMIE R B & -18.3
2B F vy -18.1
33[FSURA-ORER -18.1
34Ty -17.9
35[A YT ra—RL— 3> -17.8
36/ R O -17.8
371K ybh—F -17.4
38]|0akFrERIL -174
39| #0 R 17 -17.4
4000 LEFIA—DyITUETAY -17.2
M[F7a—R)LR -16.8
428 B & % -16.6
QP E R T -16.5
uy 5 ) F -16.5
45|TR-NA/-T)L -16.4
46|F F B -16.4
47|k K & % -16.3
48|BF #0 i#h FR -16.3
M9E KX -15.9
50[ERFAAYH R -15.8




